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GROUP-A =




[2]

PT equation is given by _




(3]

(I) The statistical device that measures the changes in the value
of money is ke |

i
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GROUP - B

2. Answer any eight of the following questions within two to three
SEeNEnces Gachi e e i TR e e 1) . g

SRSRIER [C 990 086 g664aq 90 91 86aF QIR6a gaIR 44l
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[4]

(f) Green Accounting

A QNEIISIE

;5,'3 (g) Write two functions of money.

| | Jae 90 eIy eRdl

) Wite o cavses of
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eflation.
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[5]

(c) Nationalincome

@M Tk

(d) What are the limitations of macro economics ?

AAREIE ATSIR YORRGIGFR QeI ?

(e) Distinguish between economic statics and economic dyna-
mics.

- AGIGR Fow! 6 2IGIES GFaIRE! FrIER DR @di |

() Mention the steps in the construction of an Index Number.
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[6]

| ~ GROUP — D

4 Answer any four of the following questions within 500 words each.
5a6F1ed ¥G g9a QeQ geeiRg %0 o6 dR ke Jalr aa |

(a) Distinguish Ll:>etwe<—3n macro and micro economics. What are
the limitations of macro economics 7 [7

i aree 6 948 20010 e geae adidll Ao de1ae
AIFNRNAIYLR 6l ?

(b) Explain the concepts of h,ation'al income and show the
_interlinkage-amofng.‘them. Pl , [7

Qlo1el ZIIEJ.Q EIQMIQGIIGJ.@GP Q‘{IGHI G?Q ¢ GGGl@GP crIeQ 4o
21!@8‘219‘1&? g@ﬂ@ G’Ql

Vi apiam the difficul sOf estimating national income.  [7



] : [7 ] : )

f) Whatis deflation ? Explain the measures to control deflation.

ARG Q@@ ? 21@%16@ GORd QA9 AR QUINGRR R4l ? / |
(@) Explain the principle of effective demand. [7 Q
TRYQ QIRQI FaQ QI [
(h) Explain the quantity theory of money. [7

9@ 9dee o odel el
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L GROUP-A |
- 1. Answerall q'uest'i’-ohls"a,ri'd"ﬁ_ill".irii, blanks as requ1red o [1x12
there 2

S
2



(9)

(h)
()

)

[2]

and

Atthe point of inflexion, f(x) =
f"'(x) # ;

Give an example of implicit function.

For determining curvature of the function, which order de-
rivatives play important role.

Given the function u =1(x, y). fxy and .fyx are called

partial derivativese Sl o SR G ~

: ‘.,w‘_‘~~,,‘...:;“ ¥
§ B 4 s,

Given the fun‘ctlon y f(x) erte the 2nd order condition for




[3]

(f) Integrate the function with respect to X, j(4e3x + 1)dx.

(g) GivenMC=1+2x+ 6x2, find TC.

(h) Find the area bounded by the curve y = x? and the x-axis,
ordinates x =1 and X = 3.

(i) The total cost of a firm is given as C = f(Q), where C repre-
sents total cost and Q represents output. Mention the two
conditions under which the total cost will be minimised.

(i) Given U =1(x, y). State the conditions for saddle point.

GROUP - C

3. Answer any eight of the following questions within 75 words each.
[3x8

(a) Prepare an input-output table for any three industfies having
a final demand sector and also a labour input.

3.2 0.3

, check the Hawkins-S‘imon conditions.
0418

(b) Given A =[

Is the system viable ?

03 0.3

0.4 0.6] , find Adj(l-A).

(c) Given A =[
(d) Find the third derivative of y = x°log x.

PT.O.



[4]

(e) If y=ke™+ [, prove thatf"'(x) = 4y.
sk s s dlyd

(W) I X=0gY Y= " ,flnd‘ e ._
() Is the curve y=%x3 ~3x% +8x—5 possesses a point 3

inflexion atx=3?

(h) | Given the pro'duction function Q = 9800 find MP, and
e iihed o and K= 1.1

(i) Evaluate [




T T T T i Y T T P T e T —

(b)

(c)

(d)

(f)

(9)

final demand.

0 0.3 0T
Given A=| 0 0.2 0.2 | and final demands are
|0 0 0.3

F.. F,and F.. [7

Find the output levels consistent with the model. Also find the
output level if F1 = 20, F2 =20 and F3 = 100.

Examine the function for concavity and convexity for
y = 2x% — 3x% = 36x + 25. Also find the point of inflexion. - [7

_ o2z itz
If Z=log(x?+ y?), show that + =0, 7
g(xt +y9) L [
Integrate the following by method of substitution : [7

Find the profit maximising output, given Q =200 - 10P and

Q ' [7
=40 A4 = -
AC 5

Given the utility function ; U = 3x,X, + 1 subject to budget

constraint 100 — 3x, — 5x, = 0. Find x, and x, at which utility is -

maximum. [7
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~ GROUP-A




R,

(d)

(f)

Per capitaincome = it

[2]

Colonialism is ;

ARG 266G |

British regime started in India after : war.

NQRER ITE SR I8 d6Q Yot 624 |

In ___year, Calcutta-Bombay National Highway was
constructed.

QURBI-Q6FL FIG1L) legel __ ¢Rviea Gud seal

2255

tal Population




[3]

(k) The contribution of service sector to GDP is gradually

GDPq 6QQI6960Q 2QQIe Q14 6203 |

(I)  Fullform of TRYSEM is

~ TRYSEM® gR ad _26@]

GROUP - B

2 Write notes on any eight of the following within two to three sen-
tences each A e Gl [2x8

GQG@QQ F@Q_ G‘Qéﬂ QG@HG?GP 90 Q) @GQIG' QIGPLIGQ geIe Qq |




(f)

(9)

L #4]

Trends of growth of population
FRAH QEQ 2

Density of population
@A Aol

Land reform

QAR s




[5]
(b) Birth rate and deathrate
Q2R 6 IR

(c) Infantmortality rate

- dg geuee

Q] 6 Q-'AUQ

A




4.

()

[6]
Steps for elimination of Income inequality

AR AAARE! QIRAE AFIED QEHT

GROUP - D

Answer any four of the following questions within 500 words each.
A6l ¥T gga aaa geeiag 8008 da FRIEQ gIe /9|

(@)

(b)

(©

(d)

Explain British Colonial rule and its impact of Indian economy.

G [7
959 AUReRdR dAe 6 ANGIE ARG AUER <RIR gale

QHal @ ~ | - J

Mentidn the basic featur_é_s of Indian economy. [7

RRG1E AIRIFR 6517 6D Qs 4|

Explain the National Population Policy, 2000. | [7

P18 PR AMB-9000 94q aq |

What are the causes of low productivity in Indian agricul-
ture ? ' - ~ [7

Q9019 93 99 AYARNAGIR FIREIRS el ?

Explain the impact of green revolution on Indian economy.

QIee1e 2da16 aUea 498 §gea g9 edal 99|
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[ 71 .
(f) Explain the role of industries in economic development. [7

226706 9aaea Jga ge] @dal /el

(9) f=:>,<plain the factors determining growth of service sector of
India. | [7

QURG1E. 6AQI6TRER 2R FRIad FQAel dIQle AYR I
aQ| |

(h) Explain- the features of Industrial POIicy, 1956, [7

e ’
3 ) r. i e

Gecis ccson cRa edaieal




